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1.
Find ∆G° at 1873 K for the change in standard state for the reaction.


Mn(l)
=
Mn(1 wt % in Fe)

MW Mn
=
54.9


MW Fe
=
55.9


 EQ \o(o,Mn)  
=
1.33

2. What is the slope of a line on the Ellingham diagram (RTLog PO2, Kcal vs T) for the reaction 

2C + O2 = 2 CO

when the percent carbon is 

a) 1 wt %.  

b) 0.1 wt %

Assume that fC = 1.

Data:


C(gr) + 0.5O2 = CO

G0 = -111,700 –87.65T  Joules/gfw 


C(gr) = C 


G0 = 22,7594 –42.26T  Joules/gfw

3.
What is the mathematical relationship between the slope on a Darken Plot* () at infinite dilution and the Interaction Coefficient, 
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* ln vs. (1-xi)2

4.
Write a short paragraph on 1) the reason for using 1 wt % standard state and 2) the graphical relationship between ai and hi .  Use a figure of ai  vs xi . 
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